QUIZ VI:MATH 274
November 22, 2013. NAME: Solng

[6pts] Use the convolution theorem to find the solution of the following initial value

problem. Express your answer as a convolution integral.
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2. [6pts] Find the solution of the following IVP given the listed independent solutions 7
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3. [8pts] For the following problem, find two independent solutions 7 (t} and £2(t) and then
write out the fundamental matrix X ().
dz [ 5 —6 } .

—&IzA:c= 3 _4|%

215t oot = (en-2)
?u)_\ i _‘M\
"‘tjevwa.lwu are ’,\l et "Aa_-'-?.
6 -76( < t
A“;\‘T. < ,[* x] }’ - (;)
-3 -¢ > = {2
AmXT ’[-x- 94:] f (')
. i N
x = X v %




